



USD

USD

Package

Margaret Ray;David

This price quote is good for 60 days. BFW High School Publishers is committed to delivering the best value for the program you have adopted. Pricing herein may reflect package discounts. Removing or editing components may cancel any package discounting applied to component items. Prices subject to change, including annual increases in November. Shipping fees are estimated; actual shipping fees may vary.

Purchase Orders: Please attach a copy of this price quote to your purchase order and submit your purchase order to: MPS 16365 James Madison Highway Gordonsville, VA 22942 Email: highschool@mpsvirginia.com / Phone: (540) 672-7744

Buyboard #750-24

Quote Number	00122173	Prepared By	Zach Smith
Created Date	4/10/2025	Email	zsmith@bfwpub.com
Contact Name Bill To	Uchenna Nwaizu Desoto Ind School District 200 E Belt Line Rd Desoto, Texas 751155704 United States	Phone Ship To	(972) 230-0726 Desoto Ind School District 200 E Belt Line Rd Desoto, Texas 751155704 United States

Itemized Products								
ISBN	EAN	Product	Edition	Author	Line Item Description	Sales Price	Quantity	Total Price
131953581X	9781319535810	Human Geography for the AP® Course	2	Barbara Hildebrant;Seth Dixon;Kenneth Keller;Max Lu;Roderick P. Neumann		USD 148.98	40.00	USD 5,959.20
1319611354	9781319611354	Achieve for Human Geography for the AP® Course (One-Use Online; Add-On)	2	Barbara Hildebrant;Seth Dixon;Kenneth Keller;Max Lu;Roderick P. Neumann	Package Price	USD 12.00	40.00	USD 480.00
1319536018	9781319536015	Achieve for Human Geography for the AP® Course (1-Use Online)	2	Barbara Hildebrant;Seth Dixon;Kenneth Keller;Max Lu;Roderick P. Neumann		USD 55.00	160.00	USD 8,800.00
131940930X	9781319409302	Ways of the World for the AP® World History Modern Course Since 1200 C.E.	5	Robert W. Strayer;Eric W. Nelson		USD 139.98	40.00	USD 5,599.20
1319549217	9781319549213	Achieve for Ways of the World for the AP® World History Modern Course Since 1200 C.E. (One-Use Online; Add-On)	5	Robert W. Strayer;Eric W. Nelson	Package Price	USD 12.00	40.00	USD 480.00
1319524389	9781319524388	Achieve for Ways of the World for the AP® World History Modern Course Since 1200 C.E. (One-Use Online)	5	Robert W. Strayer;Eric W. Nelson		USD 55.00	130.00	USD 7,150.00
1319484425	9781319484422	Fabric of a Nation	2	Jason Stacy;Matthew J. Ellington		USD 144.98	40.00	USD 5,799.20
1319560954	9781319560959	Achieve for Fabric of a Nation (One-Use Online; Add-On)	2	Jason Stacy;Matthew J. Ellington	Package Price	USD 12.00	40.00	USD 480.00
1319534201	9781319534202	Achieve for Fabric of a Nation (One-Use Online)	2	Jason Stacy;Matthew J. Ellington		USD 55.00	80.00	USD 4,400.00
1319409334	9781319409333	Krugman's Macroeconomics for the AP® Course	4	Margaret Ray;David Anderson		USD 178.98	40.00	USD 7,159.20
		Achieve for Krugman's						

Macroeconomics for the AP®





131955153X	9781319551537	Course (One-Use Online; Add-On)	4	Anderson	Price	12.00	40.00	480.00
1319542484	9781319542481	Achieve for Krugman's Macroeconomics for the AP® Course (One-Use Online)	4	Margaret Ray;David Anderson		USD 55.00	40.00	USD 2,200.00
1319535984	9781319535988	American Government: Stories of a Nation	2	Scott Abernathy;Karen Waples		USD 142.98	40.00	USD 5,719.20
1319589235	9781319589233	Achieve for American Government: Stories of a Nation (One-Use Online; High School; Add-On)	2	Scott Abernathy;Karen Waples	Package Price	USD 12.00	40.00	USD 480.00
131953614X	9781319536145	Achieve for American Government: Stories of a Nation (One-Use Online; High School)	2	Scott Abernathy;Karen Waples		USD 55.00	40.00	USD 2,200.00
1319579825	9781319579821	Freedom on My Mind: A History of African Americans, With Documents, Updated for the AP® Course	3	Alysha Butler;Rachel Williams-Giordano;Deborah Gray White;Mia Bay;Waldo Martin, Jr.		USD 120.98	40.00	USD 4,839.20
1319595588	9781319595586	Achieve for Freedom on My Mind: A History of African Americans, With Documents, Updated for the AP® Course (One-Use Online; Add-On)	3	Alysha Butler;Rachel Williams-Giordano;Deborah Gray White;Mia Bay;Waldo Martin, Jr.	Package Price	USD 12.00	40.00	USD 480.00
131959557X	9781319595579	Achieve for Freedom on My Mind: A History of African Americans, With Documents, Updated for the AP® Course (One-Use Online)	3	Alysha Butler;Rachel Williams-Giordano;Deborah Gray White;Mia Bay;Waldo Martin, Jr.		USD 55.00	10.00	USD 550.00

Itemized Product Total: USD 63,255.20

## Free Product: Please include in your PO:

ISBN	EAN	Free Product	Edition	Author	Line Item Description	Net Price	Quantity	Your Price
1319535860	9781319535865	Teacher's Edition with Online Teacher Resources for Human Geography for the AP® Course	2	Barbara Hildebrant;Seth Dixon;Kenneth Keller;Max Lu;Roderick P. Neumann		USD 495.98	1	\$0.00
1319536042	9781319536046	Test Bank for Human Geography for the AP® Course	2	Barbara Hildebrant;Seth Dixon;Kenneth Keller;Max Lu;Roderick P. Neumann	Online	USD 495.98	1	\$0.00
1319574998	9781319574994	Test Bank for Ways of the World for the AP® World History Modern Course Since 1200 C.E.	5	Robert W. Strayer;Eric W. Nelson	Online	USD 495.98	1	\$0.00
1319493807	9781319493806	Teacher's Edition with Online Teacher Resources for Ways of the World for the AP® World History Modern Course Since 1200 C.E.	5	Robert W. Strayer;Eric W. Nelson		USD 495.98	1	\$0.00
1319533728	9781319533724	Teacher's Edition for Fabric of a Nation	2	Jason Stacy;Matthew J. Ellington		USD 495.98	1	\$0.00
1319534171	9781319534172	Test Bank for Fabric of a Nation	2	Jason Stacy;Matthew J. Ellington	Online	USD 495.98	1	\$0.00





131947585X 9781319475857	Teacher's Edition with Online Teacher Resources for Krugman's Economics for the AP® Course	4	David Anderson;Margaret Ray		USD 495.98	1	\$0.00
1319575080 9781319575083	Test Bank for Krugman's Economics for the AP® Course	4	David Anderson;Margaret Ray	Online	USD 495.98	1	\$0.00
1319536085 9781319536084	Teacher's Edition with Online Teacher Resources for American Government: Stories of a Nation (High School)	2	Scott Abernathy;Karen Waples		USD 495.98	1	\$0.00
1319536166 9781319536169	Test Bank for American Government: Stories of a Nation (High School)	2	Scott Abernathy;Karen Waples	Online	USD 495.98	1	\$0.00
1319607101 9781319607104	Teacher's Edition with Online Teacher Resources for Freedom on My Mind: A History of African Americans, With Documents, Updated for the AP® Course	3	Alysha Butler;Rachel Williams-Giordano;Deborah Gray White;Mia Bay;Waldo Martin, Jr.		USD 495.98	1	\$0.00
1319595782 9781319595784	Test Bank for Freedom on My Mind: A History of African Americans, With Documents, Updated for the AP® Course (Online Only)	3	Alysha Butler;Rachel Williams-Giordano;Deborah Gray White;Mia Bay;Waldo Martin, Jr.	Online	USD 495.98	1	\$0.00

Total Available for Purchase USD 0.00

## Shipping Information

Schools are typically tax exempt however if your school is **NOT** tax exempt, please note that your local tax rate will apply to this quote. Shipping Location Continental US and Puerto Rico

Shipping Fees:	USD 3,162.76
Special Shipping Fees:	USD 0.00
Total Shipping Fees:	USD 3,162.76

Grand Totals

Itemized Products + Shipping Fees: USD 66,417.96

Instructor Resources

**Digital Adopters:** Instructor resources will be available within your product; no action needed **Print Only Adopters:** Instructor resources can be unlocked by visiting <u>www.bfwpub.com/AdopterTRM</u>

## **Digital Subscription Terms**

**Digital subscription terms:** With respect to each product, the number of licenses allocated to you will be determined by multiplying the quantity purchased by the number of uses (where use = year). [Example: 100 units of a 6-use product = 600 licenses.]

Access to each title will expire on the first to occur of (1) all purchased units which would be available over the course of the number of uses have been utilized, or (2) the number of uses has transpired utilizing the following calculation: utilizing August 1 as the start of a new year, (i) If the invoice date falls between January 1 and September 30, the end date of the subscription term shall be calculated as the invoice year plus the number of uses indicated [Example: 100 units of a 6-use product is invoiced on April 15, 2023. The end date based on uses purchased = July 31, 2029]; and (ii) If the invoice date falls between October 1 and December 31, the end date of the subscription term shall be calculated as invoice year plus the number of uses indicated + 1]. [Example: 100 units of a 6-use product is invoiced on November 15, 2023. The end date based on uses purchased = July 31, 2030.]





For complete subscription terms, see <u>bfwpub.com/subscription-terms</u>. Your issuance of a purchase order based on this quote or your payment for the courseware subscription signifies your affirmative understanding and acceptance of these terms.

The Accelerator Option: If chosen at the time of initial purchase, the accelerator option permits the one-time option to upgrade to a new courseware edition at any time within your active courseware subscription term. It is your responsibility to inform your sales representative when you are ready to proceed with the upgrade. The Accelerator Option does not apply to e-books and applies exclusively to digital courseware and not print products.

## **Miscellaneous Information**

**Sole Source Statement:** Competition in providing the above named products is precluded by the existence of a copyright. There are no like products available for purchase that serve the same purpose because of exclusive distribution/marketing rights. These products should be purchased directly from BFW (MPS) or its approved depositories. Purchases from any other source would not ensure the item's authenticity/warranty. Unapproved 3rd party vendors cannot provide packages, digital materials or teaching materials. BFW (MPS) cannot provide these items to a school if the student edition has been purchased through a third party. We are the sole source for these items and packages.

**Note for Canadian Users:** Please note that invoices are issued in CAD, but if payment is to be made via credit card, it will be processed through our US Bank and an exchange rate fee will be applied.

**NOTE:** If you plan to place an order and will require a signed data agreement, please send to your rep as soon as possible. Agreement reviews take an average of 1-3 weeks to review.